Adding the x and y components:

-69x -119.5y
-60x +128.7y
-129%x+ 9.2y

(-129x + 9.2y)

The vector form tells you at once that the resultant is in the second quadrant.
Solving for tan with the absolute values of x and y gives the reference angle. Use the
reference angle and quadrant to find the angle to use for the polar coordinates.

_ 9.2 7. 2 2
tan 0= =2 r?=(129) +(9.2)
0 = 4.08° r’ =(16,641) + (84.64)
180°- 4.08°=175.92° r=129.33'
Figure 10

;

9.2
0
-129

One throw (129.33', 175.92°)

Practice Problems 1
Find the polar coordinates of the addition of the two vectors (throws) or
the resultant vector (one throw). Round to tenths.

1. First throw: (12, 50°), second throw: (-16, -239)
Remember, this is like a backwards toss!

2. First throw: (50, 1289), second throw: (92, -1399)

3. First throw: (27, 325°), second throw: (34, 659)
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4. |f the first vector (first throw) was (8, 200°) and the resultant vector
(one throw) was (11, 310°), what were the coordinates of the
second vector (second throw)? Hint: Instead of adding the first
and second vectors to get the resultant vector, subtract the the
first vector from the resultant to get the second. Compare your
answer with the picture and what you thought it would be.
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